


Umigue Features Offered By Flomore

»  Red-lined sight glass.

»  Acrylic covers for protection with screen printed markings.

»  Multiple material options to choose from.

»  Buna or Viton sealing o’rings available, depending on application.
»  Full line of gauges and materials kept in stock.

Proudly Made In The U.S.A.
A division of Richart Distributors, Inc.



Item # Part #

# Reqd.

100 Series
Drem Gauges

Description

Materials

1D20E 5/8” x 20” Red Line Glass Tube Glass
2 A-0164 2 Nut Steel
3 A-3100 1 Drum Gauge Spring Steel
4 A-3101 1 Fiber Washer Composite
5 A-3303 2 Split Lockwasher Steel
6 C-596.01 1 Solid Side Frame Aluminum
o 7 D-0020 1 Drum Gauge Seat Delrin
8 EZ.01 2 Pointer Stainless Steel
K-596-SCALE 1 Scale Acrylic
® 10 K-598 1 Mounting Nipple Steel
11 P-0048 1 1/2” Plastic Plug Plastic
e 12 A-0612 1 Buna N O’Ring Buna
e 13 D-0020.01 1 O’Ring for D-0020 Seat Buna
14 A-0935 1 Hex Bushing Stainless Steel
15 G-0001 1 Insert Stainless Steel
16 D-0021 1 Vent Gasket Viton

Not used for Vented style Drum Gauges
® See Alternate Material Chart

Add for Vented Drum Gauges

Alzernate Materiagls

Item#  Part# Description Material
7 D-0020 1 Drum Gauge Seat Delrin
D-0025 1 Viton Seat Seal Viton
K-598 1 Mounting Nipple Steel
10 K-598S 1 Mounting Nipple Stainless Steel
K-598PVC 1 Mounting Nipple PVC
0 A-0612 1 Buna N O’Ring Buna
A-2184 1 Viton O’Ring Viton
3 D-0020.01 1 O’Ring for D-0020 Seat Buna
D-0020.02 1 Viton O’Ring Viton

s e i N Y S S

= e oo B e e g 0 S S ey e e Y O e s v S O e e D A
= e 3

S




200 Series
Drem Gauges

84
Item # Part # # Reqd. Description Materials 5 g
1D20E 5/8” x 20” Red Line Glass Tube Glass : i
2 A-0164 2 |Nut Steel =
3 A-3100 1 Drum Gauge Spring Steel i
4 A-3101 1 Fiber Washer Composite ]
5 A-3303 2 Split Lockwasher Steel E
6 C-596.01 1 Solid Side Frame (For Scale) Aluminum :
o 7| D0020 1 |Drum Gauge Seat Delrin i
8 EZ.01 2 Pointer Stainless Steel . E
K-596-SCALE 1 Scale Acrylic -
® 10 K-779HS 1 779 Gauge Handle Sleeve Vinyl - i '
11 K-779AN 1 | Assembled 200.01 Nipple Steel |
e 12| P-0048B 1 |1/2” Plastic Plug Plastic i
e 13 D-0020.01 1 Buna N O’Ring Buna
14 A-0612 1 O’Ring for D-0020 Seat Stainless Steel
® Sece Alternate Material Chart Add for Vented Drum Gauges

Alsernate Materials

1k
4
1 :
l.’
1
i
pE
i
ik
|
B
B
1z
0]
l.
0
s E
_H-
1
{
i
IR
1
1
1
1
g
k]
AN
1
i
i
1
L

Item#  Part# # Reqd. Description Material

7 D-0020 1 Drum Gauge Seat Delrin
D-0025 1 Viton Seat Seal Viton
K-779AN 1 Assembled 200.01 Nipple Steel

11 | K-779ANS 1 Assembled 200.03 Nipple Stainless Steel
K-779PVC 1 Assembled 200.02 Nipple PVC
1 A-0612 1 Buna N O’Ring Buna
A-2184 1 Viton O’Ring Viton
3 D-0020.01 1 O’Ring for D-0020 Seat Buna
D-0020.02 1 Viton O’Ring Viton




SO0-400 Series
Drem Gauges

Material
| A-0930 | Scale Acrylic
2 A-0931 1 1/4” Male Lower Packing Nut | Stainless Steel
3 A-0932 1 1/4” Female Upper Packing Nut | Stainless Steel
4 A-3102 | Gauge Glass Glass
5 D-0013 2 Viton Gasket Viton
6 EZ.01 2 Pointer Stainless Steel
7 F-929 1 Gauge Frame for 300.01 Aluminum

400 Series Drum Gawuges

Item # Part # # Reqd. Description Material
1 1D20E | 5/8” x 20” Red Line Glass Tube Glass
2 A-0164 2 Nut Steel
3 A-0167 2 Flat Washer Steel
4 A-3100 1 Drum Gauge Spring Steel
5 A-3101 | Fiber Washer Fiber
6 C-596.01 | Solid Side Frame (For Scale) Aluminum
7 D-0020 | Drum Gauge Seat Delrin
8 EZ.01 2 Pointer Stainless Steel
9 K-596-SCALE 1 Scale Acrylic
10 K-0405 | Finished Nipple Steel
11 P-0048B 1 1/2” Plastic Plug Plastic
12 D-0020.01 1 O’Ring for D-0020 Buna
13 A-0612 | Buna N O’Ring Buna
14 K-0403 | 3/4” Stainless Steel Cap Stainless Steel




=350 Series

Drum Gauges

Item# Part# # Reqd. Description Material
1 1D20E 1 5/8” x 20” Red Line Glass Tube Glass
2 A-0931 1 1/4” Male Lower Packing Nut Stainless Steel
3 A-0932 1 1/4” Female Upper Packing Nut | Stainless Steel
4 F-350.01 1 Gauge Frame for 350 Series Aluminum
5 D-0013 1 Viton Gasket Viton
6 EZ.01 2 Pointer Stainless Steel




IF=-6000 Series
Hank Gauges

IFeatures

» Available in aluminum or 303 stainless steel.
»  Lexan scale is replaceable.
» 1/2” Male NPT inlet and outlet.

i
]i Item# Part# # Reqd. Description Material
‘ 1| F-0010 | 2 [303SS Bushing Steel
' | 2 A-0612 2 Buna N O’Ring Buna
A 3 D-0013 2 Viton Gasket Viton
g 4 1D48E 1 5/8” x 48” Red Line Glass Tube Glass
i 5 F-0006 1 Protective Shield for 48 Gauge Plastic
z- 6 F-0009 1 48” Aluminum Frame w/ Welded Blocks Aluminum
E 7 A-1959 2 Buna N O’Ring Buna
§ 8 A-3100 1 Drum Gauge Spring Steel
; 9 A-3101 1 Fiber Washer Fiber
g 10 |A3387] 1 |Bolt Steel
_““: ' 11 A-4092 1 Stat-O-Seal Steel/ Rubber

Parts List




FLOMORE

Richart Distributors, Inc.

Corporate Office
3415 South I-35 Service Road
Oklahoma City, OK 73129
1-866-843-5654
Fax: (405) 619-3007
Richart@flomore.com

Weatherford Branch Dickinson Branch  Kilgore Branch

2041 FM 920 533 East Villard Suite B 820 South Commerce Street
Weatherford, TX 76088 Dickinson, ND 58602 Kilgore, TX 75662
(817) 599-9630 (701) 483-8267 (903) 984-3070
Fax: (817) 599-9167 Fax: (701) 483-8268 Fax: (903) 984-7901

Mike.Mayes@flomore.com RichartND@flomore.com Tammy.Hunt@flomore.com

Louisiana Branch Odessa Branch
Cardon Sales Company, LLC Patterson Equipment Sales, Inc
213 Cummings Road 1610 S. Regal Avenue
Broussard, LA 70518 Odessa, TX 79763
(337) 839-1704 (432) 332-3345
Fax: (337) 839-1706 Fax: (432) 332-3348

bcardon@cardonsales.com chad@pattersonequipsalesinc.com

8 July 11,2011



